


�������� ������ �n ��

���� ���� �������� ������ ���� ���� �� n �����������



�������� ������ �n ��� ������������

����������

����� �������� ������ �� � ����������



������������ �������

������������������� ����� ����� ���� �� ������������� ����

����� ����������� ������� ������� �� ��������

�k+� = �k +
�k�

T
k

�Tk �k
− �k�k�

T
k �k

�Tk �k�k

�����

� �k = �k+� − �k

� �� = ∇f (�k+�)−∇f (�k)
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Convergence still similar to orig Newton
locally convergent
ill-conditioned Hessians are still bad
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L(�,λ) := f (�) + λT�(�).
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